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GEOGRAPHY
PAPER—II

Note : This paper contains fifty (50) objective-type questions, each question carrying

two (2) marks. Attempt all of them.

The north-pole lies with in the Arctic Ocean whereas south-pole is located within
Antartic Continent. Which of the following theory uses this phenomenon as a supportive
argument ?

(A) Theory of Isostasy (B) Theory of Plate Tectonics
(C) Convective Current Theory (D) Tetrahedral Theory

Indus and Brahmaputra are examples of :
(A) Subsequent drainage (B) Superimposed drainage

(C) Antecedent drainage (D) Consequent drainage

The average time interval between two successive high tides is :
(A) 6 hrs, 13 mts (B) 12 hrs, 26 mts
(C) 24 hrs, 50 mts (D) 18 hrs, 39 mts

It is necessary to know both the latitude and longitude of a place in order to
determine :

(A) Local time (B) Altitude (C) Standard time (D) Location

Given below are two statemets, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes given below.

Assertion (A) : The troposphere is the dense lower part of the atmosphere in which
metrological phenomenon such as clouds and storms occur.

Reason (R) : In the troposphere temperature decreases with altitude.
Codes :
A) Both (A) and (R) are true and (R) is the correct explanation of (A)

C) (A) is true but (R) is false

(
(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)
(
(D) (A) is false but (R) is true
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6.  Assertion (A) : The ocean floors are much younger than continents.

Reason (R) : Owing to their low density and consequent buoyancy, the ocean floors
are not forced down into the mantle in subduction zone.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

7.  Assertion (A) : The ultimate source of energy that makes possible the erosion of
landscapes is sun.

Reason (R) : Solar energy evaporates surface water, some of which subsequently
falls as rain and snow on high grounds.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

8.  Assertion (A) : The magnitude of an earthquake is greatest near the epicentre and
decreases with distance.

Reason (R) : The energy released by an earthquake can be established from its
magnitude.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

D—8006 4
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9.  Which of the following can be used for regional delineation ?
(A) Gravity Potential Model (B) Rank Size Rule

(C) Losch Settlement Model (D) Central Place Model

10. What does not cause Regional Imbalances ?
(A) Uneven distribution of resources (B) Sustainable development

(C) Lack of resources (D) Lack of technology

11. Nodal regions are delimited :
(A) On the basis of spatial interaction (B)  On the basis of uniformity

(C) On the basis of resource base (D) On the basis flow of goods

12. Migration of people from early periods has had a beneficial impact. The important is :
(A) Diffusion of ideas
(B) Spread of language
(C) Spread of scientific and technological innovations

(D) All the above

13. In rural areas small towns commonly grow up for providing :
(A) Market facilities (B) Educational facilities

(C) Health facilities (D) Administrative facilities

14. The most important criterion for classification of Indian Urban Centres is :

(A) Site (B) Shape (C) Population (D) Function

15. In Rank Size Rule the population of lower Rank City is in proportion to :
(A) Population of smallest city (B) Population of largest city

(C) Population of middle order city (D) None of the above

D—8006 6
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16. Who is known as the father of Political Geography ?

(A) Rudolf Kjellen (B) Haushofer. K. (C) Ratzel. F. (D) Hartshorme. R.
17. Who gave the concept of Rimland Theory in political geography ?
(A) Spykman. N. J. (B) Warner. E.

(C) Weigert. H. W. (D) Mahan. A. T.

18. Match List-I with List-II and select the correct answer using the codes given below :

List - 1 List - 11
(Geographer) (Principle)
(a) Vidal de La Blache (i)  Unity in Diversity
(b) Jean Brunhes (i)  Social Determinism
(c) Carl Ritter (iii) Terrestrial Whole
(d) Fried Ratzel (iv) Interaction
Codes :

(@ (b)) (© @)
(A) (i) @) @Gv) (@)
(B) (v) @) @ (i)
(C) (i) @v) @) (i)
(D) (i) @ @) ()

19. The philosophical view advocating that man is responsible for making his own nature
is known as :

(A) Positivism (B) Functionalism

(C) Existentialism (D) Pragmatism

D—8006 8
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20.

21.

22.

23.

24.

25.

Crop combination is calculated on the basis of :
(A) Percent area of net cultivated area

(B) Percent area of gross cultivated area

(C) Ranking of crops in a region

(D) None of the above

Jharia coal fields is located in :

(A) Bihar (B) TJharkhand (C) Orissa (D) Chattisgarh

The correct sequence of the advent of prominent British geographers to the development
of Geography is :

(A) A.]J. Herbertson, S. W. Wooldrige, H. J. Mackinder, L. D. Stamp
(B) S. W. Wooldrige, A.J. Herbertson, L. D. Stamp, H. J. Mackinder
(C) H.J. Mackinder, A. J. Herbertson, S. W. Wooldrige, L. D. Stamp

(D) L. D. Stamp, A. ]. Herbertson, S. W. Wooldrige, H. ]. Mackinder

Consider the following Seas :

(i) Red Sea (i) Black Sea (iii) Dead Sea (iv) Baltic Sea
The correct sequence of those seas in descending order of salinity is :

(A) (), (ib), (D), (iv) (B) (i), (i), (iv), (iii)

(€) (), (i), (iii), (i) (D) (i), (i), (i), (iv)

When was “Project Tiger”, one of the most intensive conservation efforts, launched in
India ?

(A) 1963 (B) 1967 (C) 1973 (D) 1977

Who defined ‘Resource” as ‘Resources are not they become” :

(A) Van Thunen (B) Zimmerman (C) Hartshorne (D) Semple

D—8006 10
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21.

22.

23.

24.

25.
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26.

27.

28.

29.

30.

31.

32.

Animal rearing on a commercial scale has developed well in :
(A) Monsoon Regions (B) Savanna Regions

(C) Prairie and Steppe Regions (D) Sabel Regions

Which State is the largest producer of Wheat in India ?

(A) Haryana (B) Punjab (C) Uttar Pradesh (D)

Which one of the following is a Footloose Industry ?
(A) Cotton Textile (B) Sugar

(C) Cement (D) Handloom

Isodopanes are associated with :
(A) Line of equal height (B) Line of equal rainfall

(C) Line of unequality (D) Line of equal transport cost

Which one of the following is not associated with a Transport System ?
(A) Von-Thunen Theory (B) Distance Decay Function

(C) Principle of Least Effort (D) Central Place Theory

Mongoloid race is predominantly found in :
(A) South Africa (B) East Asia

(C) Western Europe (D) East Africa

Which one of the following is related to the Tribal Economy ?
(A) Footloose Industries (B) Settled Cultivation

(C) Shifting Cultivation (D) Industrial Economy

D—8006 12
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26. U-UTEH AfUIfeoe THM W oyel-Aifa fawfad gor B
(A) AHEEA &= A (B) QE= & |
(C) W qon = & § (D) TR & |

27. 9RA H W 1 o 31ferek Scared o T W e ©2
(A) @i (B) U (C) SR U (D) fa=r

28. Trorfafed § @ #iF T W< 3 B

(A) It o= (B) =T (C) wHe (D) BI&RTE

29. ‘ITEEESYH’ w1 HeY ¢
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(C) STHHMAT i &1 (D) A IRERT AN i @1

30. TosHfefad § 9 A fwet aftesd yomelt 9 Hefud 78 € 2
(A) - forerd (B) fexdq feh trmm
(C) Tifauer o1 T ofwe (D) ¥d =g ol
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33. Racial traits of Man are studied in :
(A) Palaeontology (B) Hydrology
(C) Sociology (D) Anthropology

34. Who formulated the Heartland Theory ?
(A) H.]J. Mackinder (B) R. Hartshone
(C) Peter Hagget (D) Herbertson

35. A plant adapted to a wet environment is called :
(A) Hygrophyte (B) Xerophyte
(C) Mesophyte (D) Tropophyte

36. Ecological succession normally leads to :
(A) Habitat (B) Biome

(C) Climatic Frontier (D) Climax

37. The petro-dollar economy has highly influenced one of the following states more than

others :
(A) Tamil Nadu (B) Kerala
(C) Punjab (D) Gujarat

38. Population distribution in India at state level is best represented by :
(A) Dot Method (B) Pie Diagrams
(C) Choropleth (D) Isopleth

39. Identify the major objective of using regression model in a data set :
(A) Causability between Dependent and Independent variables
(B) Association between Dependent and Independent variables
(C) Skewness in the data

(D) Dispersion in the data

D—8006 14



33.

34.

35.

36.

37.

38.

39.
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40. Match List-I with List-II and select the correct answer using the codes given below :

List - I List - IT

(a) What measures of dispersion is (i)  3(x—Median)

defined as the difference between
the lowest and highest value ?

S

(b) It is a measure of skewness (ii) X (100)

(c) If the coefficient of variation (iii) Range
is desired, it would be found
by applying which formula ?

(d) Which average is used in computing  (iv) Arithmetic Mean
the variance and standard deviation
of sample

(v)

Codes :

(@ () (© @)
(A) (i) () () (@)
(B) (i) (v) @) (iv)
Q) Gv) @) G (i)
(D) () @ G) ()

41. The rank of Indian Railway Network among the countries of the World is :
(A) First (B) Second (C) Third (D) Fourth

42. Which of the following is associated with the Cotton Textile Industry ?

(A) Pune (B) Varanasi (C) Ahmedabad (D) Chandigarh

43. Kargil is located on the banks of :
(A) Indus River (B) Jhelum River
(C) Suru River (D) Chenab River

D—8006 16



(D) =qd

(D) =<

(D) = e

40. TEI-1 = GHI-11 9 gafaa s gieai & 9 @ 73§12 1 379 L 98 SR T |
gar-1 gar-11
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AfRaY A1 & W9 A & B9
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T T B R T w4
(D) T % JRE" qe1 A fa=ed &t (iv) ST 7ea
o | forg fia o1 A fovan Siran ®
v)
- i
(a) () () (@)
—\2
Ho=x) (A) @) @) v @)
(B) (i) (v) @) (iv)
(C) (@Gv) (@) (@) (i)
(D) Gi)) @) G ()
41. foava & <9 § wRdg Y& Seoeh &1 S © ¢
(A) Tem (B) Tt (C) =
42. frsafafed § 9 frges S99y It o6 M 4 72
(A) @ (B) -SRI (C) STEHSETE
43. RO & frm m feem 2
(A) fay 7t (B) oo &I (C) & Tt
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44.

45.

Imphal is the capital of :
(A) Manipur (B) Nagaland

(C) Meghalaya (D) Arunachal Pradesh

Mc Mohan Line is an international boundary between :
(A) India and Bangladesh (B) India and China

(C) India and Pakistan (D) France and Germany

Information consists of new facts, data, ideas, and routine communication. Like
people, goods and services, information flows from place to place, moving from places
of production to demand areas. When we think of demand areas we should not confuse
places of need with places of effective demand. In the flows of people, movements among
big and vigorous centers are much larger than migrations among the depopulated
backwaters of depressed areas. In the shipment of goods, the volume of trade among
the developed countries far exceeds their trade contacts with the underdeveloped world.
Similarly, information flows primarily among the vigorous idea centers in a system.
Islands of lethargy are bypassed because they are literally out of the system.

Rich nations trade primarily with each other. Migrations often occur between
clusters of mankind. Those who send the most messages get most of the return contacts.
A tendency exists for flows to run from places of abundance to areas of effective demand
according to the effective pulls exerted at each destination. As flows continue, a tendency
toward equilibrium conditions seems common. In the physical world things move
through space so that potential can equalize. Water tries to move under the force of
gravity to the lowest point, and if free to move to sea level it will do so.

Similarly, air will move from a high pressure to a low pressure area. High pressure
as a causative agent cannot move air very far in one direction. We know this from
common experience when we try to blow air across a room with a fan or try to blow
out a match at a distance. More air will be moved by putting the fan in one window
blowing outward and opening another window across the room. Instead of
emphasizing push factors, it makes more sense to think of air being pulled in a certain
direction by a zone of low pressure, in the same way that water is pulled from a mountain
top. Similarly in human affairs a pull exerts a directed force with respect to excess
supply somewhere else. Therefore, to explain why something moves from A to B it
helps to emphasize the pull at B rather than the push at A. The push at A often is
unspecifiedd directionally, whereas a pull at B is significant not only for A, but for any
other potential supply source as well.
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ECa Gl H TG B
(A) HfOTR (B) RIS
(C) HeTe (D) STEUEE TRW

“reh e @reA’ TR <9Il & St ST wiH § 2
(A) YRA LT ST (B) 9RG qe ==
(C) 9Rd a«T qifehEa (D) Wi qe ST

TG T TG Toh-G o o9 SATIR & © | JaT9 991 919a 99l o o= gra1 § | Si ant
31fYen HaTg 99id €, TSR | o 9gd 9K §9eh UTd © | TRl H - Joieh Tqed T T Sesied! €9
T 2ot T gHTet fEE o ST{EY- U=l % T 9 YHTel Jil ok &3 i SR S St gefaT gidt
T YaTE ST @A & WY HISATS 1 31 Y91 81 F1 Ygf 31 wedta gt €1 ofifass foea #
YT T o s T Sielt § qifeh Gfarsopar 9 &1 Weh | ekt oIt o R0 e ST
feig =1 &R ST w1 =91 3l B, AR Ffe 38 T & Ao S 1 =il 81 o1 78 Tl & HIM|

T TR, B S a1 oTet &1 9 5 ol ofre &5 i SR S | ek SifeRs & &9
H I 9 7o I U o § Afeen g dh T8I o ST TRl | I8 BH ST ST § |Md § 9
T UG i e ¥ fret I H gan yarfed w € steyen Hitew w1 diell w9 g W FE H
T T | T Targsh! B v o T TR g1 theh AT S i gHd 3R U 31 faeant @ia
Y 31fyeh g Then! ST | 39 Y61 1 781 0@ HHZ o foTU ket dTed ehl T 3 i
ey T ama At & g Rt o fewn & @< S Al gan W fo=R w sea 2,
3 I YRR Y T HT e F g A R 71 56 YR, Aa | 2 frerseardt §, fad
3T TIM TR 3Ty 3T o ufied H, fE=E U Yae 9a ol € | 3Td: 9 o1d ot smedl
FH & o, o <2 1 9o 31 @ 9 1 AR a9 et B, 399 3tferss FerEar faentt it & W
el & afETd 9 W g W Afuss eam Fgd fhen S/ o1 R usha it feemeshar agEn
1 1 TS T LA, sTiene), foamd qen fea-gfafed o wen &R fa=mi & STeM-ueM ¥ 2
¥ 1 Safsa, foi qen Qaneti 1 oifd, T, T Scael B o T 9 79! | % e B U
T Y O T T Yafed Sl § | STal &0 HivT- 8351 o ok Wied § a6l g STTavashl o T
o T T YIS HIT & T 1 99 T8 o1 16T | Al 91 SAThA! o JaT8 % gad H, Sfad &
I Tl STETE] 9T TS SATRl % YA 1 qorl H 99 a1 Yoo Sl § STH-SH 1
a1ferer =<t A B gran € | i & am- 99 & ufden H, faerfaa <uif @ steifaerfaa <o % =
SR &1 g § fafad 39 & 97 T gl & " AR oTcafs oI 7 | g €1 35
YRR A TEHTA T YOl & Fad [qaR-hg] % Ae Janed gl ¢ | 36 Tfshan # oTers &
29 R el S € Hif aeqa: 3 yomedt | aneR g ¥ 1 erfafdy At ¥ safw @ w fgEma A
Faat 1 % forg afess frelt oft e durdt sryfd-%ia & fau Jec w@a B
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Read the above passage carefully and choose the correct answers to the following
questions :

46. What causes Flow of Information ?
(A) Demand
(B) Use
(C)  Quality

(D) Volume

47. What factors primarily influence exchange of goods among rich Nations ?
(A) Abundance of production
(B) Effective demand
(C) Level of economic development

(D) Generation of information

48. Generation of information depends on :
(A) Nature of ideas
(B) Strength of idea-centres in a system
(C) Duration of ideas

(D) Effectiveness of ideas

49. The flow of information from place of origin to place of destination is mainly due to :
(A) Repulsion at the place of origin
(B) Attraction of the place of destination
(C) Distance between place of origin and place destination

(D) Abundance at the place of origin
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47.

48.

49.

JuRfafad ‘U’ &1 a1 Ydeh ug aor e o 7T 991 @ WEl Se¥ aarg |
freafafed o ¥ ®F 91 g=71 & Ja18 &l 3T H T H & 7

(A) wim
(B) 39AM
(C)  TOrers

(D) ==

g5 9 & == fSrEl & faf s ® yumes 9 garfad 3 9o s S d § 2
(A) e 61 grd

(B) 9TE /I

(C) eTfeieh fashmd =1 &R

(D) =T T ST BT

AT 1 309 B frsAfatea | 9 ford w enfya 82
(A) Touri =1 gfq

(B) Tk WUt H ferei-chgl =i wfed

(C) fo=md =1 smafy

(D) fo=ami =t gymasiied

I B & TIM W Tqed TIH q% Yo o9 &9 9 FroAfafeaa § 9 fa #ror @ yarfed gt
27

(A) A B F WM R faawd
(B) TIde T TR TRYTI
(C) 3= B % TM 941 Tqed T & o= g

(D) 3= B % T R Y
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50. Which of the following is the most suitable title for the above passage ?
(A) Flow of services
(B) Flow of commodity
(C) Migration of people

(D) Flow of information

-00o0-
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50. Suffafad T8 1 gaifis Suge sive frefafead § § &9 872
(A) TRl %1 YaTE
(B) fsigi 1 yame
(C) <M 1 Ferd

(D) Y= k1 9418

-00o0-
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